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Questions?



Exercise 5

Consider a person with utility of income u(x) =
p
x . The person

has an income of 2500 Euros but loses L Euros with probability ↵.

Determine the certainty equivalent and the risk premium as a

function of ↵ and L. Is the risk premium increasing or decreasing in

L? Is the risk premium increasing or decreasing in ↵?
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↳ probability ✗ (1-2)-02500+2.2500
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Is the rise premium increasing or decreasing in 2 ?

RP = - XL + 50002 - 222 - 2500 + L
? L -10011-2127%-5
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⇒ The risk premium increases as TTF < 50 for ↳°

with a Wigner boss (L)
TE = 50



Is the risk Premium inweasing or decreasing in L ?
(a - L2)

RP = - XL + 50002 - 222 - 2500 + L
? L -1005-5×7%-5

1¥ - (L -d) • 100 -TEL

ORP (2. L)

-
= - L + 5000 - 10000×+22 . L - 100 -TEL / 1- 2L)

This is meitner always o_O nor always ≤ 0
.

For example, for L = 900 ,
we get

0^0%-900) = 100 - zoo . ✗
→
≥ ° for ✗ ≤ §

→ <0 for L > §



Exercise 6

Consider the utility function u(x) = �e�⌘x
. The person has an

income of 1 and experiences a loss of 1 with probability ↵. The

coefficient of absolute risk aversion is defined as �u00(x)/u0(x).
Compute this coefficient. Let now ↵ = 0.5 and check whether the

certainty equivalent in- or decreases in ⌘.



⑥
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2. lass ocwrs: income of 1-1 = 0

↳ probability L
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CE depending on ⌘ for ↵ = 0.5 (Eln) = -ʰlYYQ5

(Eln)

CE is decreasing in R

→ thenight risk aversion (n)
the love is the Certainty
equivalent

n



Exercise 7

The Wall Street Journal reported in 2006 of ”mini-medical

insurance plans”. These plans cover routine services, but little

hospital coverage and usually have a cap on payouts (say of

$10.000). The premium, however, is only $50 per month. Why

might people buy a mini-medical plan? Why are such insurance

plans not more popular (in a country where a substantial part of

the population did/does not have health insurance)?



⑦MN-mediealinsuranceplan.lu
hy night people like such a plan ?

- Affordability
→ they might have a how willingness to Pag and 50$

is quite cheap
- access to are that 's Covered

- thinb they have lower risk for seine illnesses / expansive Lreatmerts

- act as

"

consumplion Shooting
"

↳ don't pay one big amoont at Once but several Shall
amounts more offen

- access to praeventive care
→ maintain overall health which mag help prevert more
Server health issues down the -

line .



Why are such plans not more populaer ?

- If you thank that you have a high risk of Sever health issues you
know those will most likdg not be Covered

- aderantages of full Coverage insurances

→ higher premium but they provider higher Protection
→ not as vulnerable + ◦ high hospitalization or

Specialized Carl costs
.

- Cap on payouts

e-9. 10000 could offen be too how to Cover significant Medical
expenses

→ risklfear Of significant out-of -pocket Cost



50 > d. L + administrative costs ( * profit margin )

↓
risk boss

→ These plans Could be too expansive for insurahce companie



Exercise 8

Consider a person with utility of income u(x) =
p
x . The person

has an income of 2500 Euros but loses 1500 Euros with probability

1/4. Assume there is an insurance company that offers to insure an

arbitrary coverage C 2 [0, 1500] at premium pC . Determine the

amount of coverage C (p) that the person will buy. (If you find this

too hard, let p be 0.3.)



⑧ WHITE

TWO Cases : (without insvrance)

1. The boss occurs : lnweme of 2500-1500=1000

↳ probability ¥

2. NO less : Income of 2500

↳ probability 1- = ?



There is an insurance Company that -Otters to insure an arbitrary Coverage

( c- [0
,
1500] at Premium PC .

What is the amount of coverage (Cp) that the person will buy?

→ Maximize expected Utility with respect to C

#
""" '

( u) = f-TEE + JE ≈ 45,41
↳ Expected Utility without insurance

Expected utility with insorance :

E
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(u) = fÄ t 7725¥
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. zgo ,
|

⇔ C = 99%2%1%7=+9%-3 → This is the coverage the person
- would Chaser


